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INSTRUCTIONS TO THE CANDIDATES

This Question Booklet ie printed in Hindi and English languages. Candidates should ulmt any
one of the two languages according to their convenience.

The Question Booklet comtains 100 questions. The examinee should verify that the requisite
number-of questions are printed in the Question Booklet, otherwise hefshe should ask for another
Question Bogklet.

All questions are compulsery.

All questions carry equal marks.

‘The eover page indicates the number of pages in the Question Booklet. The examinee should
m:&htﬁemumhnmhﬂmma%mth&u@nmummwm
ghould agk for another Question Booklet.

Read carefully the instructions given on the Answer Sheet (OMR Sheet) supplied and indicate
your anawers accordingly.

Kindly make necessary entries on the Answer Sheet (OMR Sheet) at the pﬂm indicated and
nowhers else.

Examinee should do all rough work in the space meant for rough worhunpugaa given at the end
of the Question Booklet and nowhere else, not even on the Answer Sheet (OMR Sheet).

If there is any sort of mistake either of printing or of factual nature in any question, then out of
the Hindi and English versions of the question, the Hindi version will be treated as standard.
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1. ISl &Y U Ufed & AT, TOT & 91¢ ¥ 1047 & U9 v S o ¥ 179
AT W &1 fNer, T & e @ Il g1 Ifg 2fer o8 ok @ 104t &, a«
gfed & fFas sfear § 2

2. T TEAIST A A q@ T, Ygell TEAT T &l T[T & IR e FEar H
oot I 81 e ol FEamst T 3T 44 @1, A ded 99 §Em ¢

3. %ol dr T FIN A, ggell GFd & 23 T[T & G g, q@d dfed 7 21,
et afFd & 19 va 3ifaw didd & 5 g & e &1 Poll T F H
gfeaal $r gEar g

A) 10

B) 1

N O

(A)
(B)
(C) 1
(D) 1

(0e}

4. fAefaf@a dear @en #, aed J&ar Ad ST
2,9, 18, 29, 43, 57, 74
(A) 9
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5. Teh gog TG & GHI, Id Toh TH & AH @sT ATl WH HT o> 18
3R &= T A fa g7 fewr dr 3R 7@ i @ AT ¢

(A) afaror
(B) 3R
(C) q@
(D) ufde#

6. &I 1S AT IR MM, Te&T i T TE gUoT BT §, 9 gUor RP
W @M ST § 2

UR& TR

=

=

©

o) L) e

(D)
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1. In a row of girls, Rama is 10" to the left of Radha and Radha is 17™
from the right end. Sheela is 4™ from right of Rama. If Sheela is 10"
from the left end, then how many girls are there in the row?

2. Of three numbers, the second number is twice the first and thrice the
third. If the average of the three numbers is 44, the largest number is:

3. In a flower bed, there are 23 rose plants in the first row, 21 in the
second row, 19 in the third row and 5 rose plants in the last row. The
number of rows in the flower bed is :

4. In the following number series, find out the wrong number:
2, 9, 18, 29, 43, 57, 74
(A) 9
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5. One morning during sunrise, Ravi was standing facing a pole. The
shadow of the pole was forming on the left side. Ravi was facing
towards:

(A) South
(B) North
(C) East
(D) West

6. Which of the given answer figure is the correct mirror image of the
question figure, when the mirror is held at RP ?

Question figure:

=

(A)

(&)

r
o |
m
r

)}
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7. TRAINING' 2lse & 318TRT &l JANRT alah [ediai@d H & Hid-§ s &I
AT 8T fohar ST Hehar g ?

9. IfE Uk Hihias AT #, MANAGER = 34, DIRECTOR = 35 3R
ASSISTANT = 36 g, dr 38 dishfader AT & STAFF = for@r STeeT:

10. TRAT Gikhfaer #ST F 'ROAM' &Y 'URDP' for@r Jrar g1 38T dishide
AT H 'SHAN' = = for@r rwem ?

https://www.pygonline.com
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11. T =gfFd &l 60 Bie 3T T & @I FI Tl ¢l IAFh dhvs A, a8
5 ®IC TGdm &, fhed 4 e T haer ST &1 fohdsl A0S a1 98 RIEw i
g ol ?

A) 56

B) 60
) 6

D) 6

(
(
(C
(

12. 30 feadl & frd A A, AfaA Gaw AfaR g1 39 A & WY AeldR
I T fesTieh gl 2

13. g ey AREA e #T #7 'bir le nac' #1 3 § 'green and tasty’;
'pic nac hor' & 31 § 'tomato is green' d@ fF=faf@ad & & Fia-ar FAfRkET
T TE e ?

A) 'bir' T 31T § 'green’

(A)
(B) 'nac' &1 3¥ § 'tomato'
(C) le' &t 371 g 'tasty’
(D)’

D) 'nac' @T 319 § 'green’
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14. 3 fhhe fTemg, faw e g

Gl eforg f@ermsy, gidhr T@arst gl

i@ & @ Fla-ar ARag s7 & a@@r g 2
(A) T Tohehe T@aTa), gl emsr g

(B) & fhehe TR, gidr f&emsr &

(C) F& faw T&emsy, glehr f@emsr w1&T &

(D) & fohehe TemsY, gl e &

7. Which of the following words cannot be formed using the letters of
the word "TRAINING"?

(A) GAIN
(B) RAIN
(C) RING
(D) KING

8. Find the missing number:

10 | 11 12 | 10
56 }— ' ?
N
(A) 44
(B) 64
(C) 60
(D) 54
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9. If in a code language, MANAGER = 34, DIRECTOR = 35 and
ASSISTANT = 36 then STAFF will be written in the same code language

10. In a code language, 'ROAM' is written as 'URDP". How will 'SHAN'
be written in the same code language?

(A) VKDQ
(B) VSDI

(C) VUFK
(D) GHSP

11. A person has to touch the top of a tower of 60 feet height. In every
second, he climbs 5 feet, but slips down 4 feet. In how many seconds
would he touch the top? https://www.pygonline.com

12. In a month of 30 days, the last day is Saturday. What will be the
date on the fourth Tuesday of that month?

(A) 20

https://www.pygonline.com




13. If in a certain code language 'bir le nac' means 'green and tasty’;
'pic nac hor' means 'tomato is green', then which of the following is
definitely true?

A) 'bir' means 'green’

(
(B). 'nac' means tomato
(C) le' means 'tasty'

(

D) 'nac' means 'green'

14. Some cricket players are tennis players. All tennis players are
hockey players. Which of the following is definitely true?

A) All cricket players are hockey players.

(

(B) Some cricket players are not hockey players.
(C) Some tennis players are not hockey players.
(

D) Some cricket players are hockey players.

15. &y & 918 Jmpfa A, Peger sieredt 1 exfir &, g fenfsar & gafar §
3R T FAHRI A SATAT &1 T 37 HllPRT HT TEAT AT § ST hadl
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A) 14

B) 10

C

N

(A)
(B)
(C)
(D)

D) 13

16. farafafad # @ F-A1 3MT FaTe, fel AR A & ST A IS
FSY Y AT & 2

A)

(B) @:)
(©) O
D)

17. I x FT - 31T, -+ ST TG, + T HT - g3 -Fr 3T x g, ar
ﬁmﬁl@aﬁm&g@waﬁmﬁﬂﬁﬁﬁw:

1.15-5+5x20 + 10

2.8 +10-3+5x6
3.6x2+3+12-3
4.3 +7-5x10 + 3
A XU 9T Fe & F@E IR IAT

9C

a
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18. U Tohohe HT &, UId Seoldrail A, B, C, D 3R E & 3i\der 41 =
TAUI DA ETS T HNRF ST EAFA T S8 TH FHA AT, B D 3R E
& TIFd THR A 5 T A &T; B 3R C & 39l T 117 & &ae| C &
fohdel T ST ?

19. Toh el Ush Tohdlel & T ATl H 1A T Y& & gl IfE 4S T
T B go5 shATh &, o fhdid A FoT o g5a 872

20. 18 =9l & T wWHg #H, 10 % dgd g, 11 IS Yad §, STafeh 6 ot
Al ? ¥ o o gl Jed 81 3947 A el b 3R IS 2l ged g7
(A)
(B)
(C)
(D)

A W © O
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15. In the figure given below, triangle represents doctors, circle
represents players and square represents artists.

Then what is the number of artists who are players only?
(A) 14
(B) 10
(C) 4
(D) 13

16. Which of the following diagram indicates the best relation between

Rose, Flower and Mango?

(A)

(B)

(C)

(D)

clelels

17. If x stand for, -, + stands for +,+ stands for = and - stands for x,
then arrange the following in increasing order:

1.15-5+5x20 + 10
2.8 +10-3+5x6
3.6 x2+3+12-3
4.3 +7-5x10+ 3

https://www.pygonline.com
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Choose the correct answer from the code given below :

Code :

18. In a cricket match; five batsmen A, B, C, D and E scored an
average of 41 runs. D scored 5 more than E; E scored 8 fewer than A;
B scored 5 fewer than D and E combined; B and C scored 117 between
them. How many runs did C score ?

19. A printer numbers the pages of a book starting with 1A. If 4S is the
last page of the book, then how many pages are in the book ?

https://www.pygonline.com




20. In a group of 18 people, 10 read French, 11 read English, while 6
read none of these two. How many of them read both French and
English?

21. AfFd a1 Fopg T O 3w St o f[AegdAeT § WRed qog & qed
38 39S THST &

23.WW$WQ@§Uamaﬁaﬁ€mmﬁ1€raﬁm
Tafaa gfehar T ggareT Td TIT Bl gl SITdr gl

o

C) vty fAuor

D) IHEAT & difehehdl & FHST

)
) TEAT qBde (i)
)
)
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24. AT &l hAeadTeT.cnne. & Y YE Bl g

21. A condition of people or a group that, exists, but members of the
group consider that undesirable is:

https://www.pygonline.com




A) Rule

C

Law

D) Parameters

(A)
(B) Problem
(C)
(D)

22. Which is the last step of the Five-Step Problem Solving model?
(A) Problem solving

(B) Selection of an alternative
(C) Evaluation of the situation
(D

) Decision-making

23. The process of identifying and selecting a course of action from two
or more courses of action to be taken to solve a problem is

called........... :
A) problem solving
B) appreciative inquiry

(A)
(B)
(C) decision-making
(D)

D) rationalizing the problem

24. Implementation of the solution starts with..................

A) developing an action plan

(
(
(C) building a plan
(

)

B) determining objectives
)
)

D) identifying resources

https://www.pygonline.com




25. An environment in which the participants are free to think aloud' is

A) Analysing

C) Discussion

(A)
(B) Brainstorming
(C)
(D)

D) Debate

26. Problem parameters do not include
A) Who is involved ?
B) Who is not involved ?

(
(
(C) What is happening ?

(D) What the stakes are ?

27. Routine decisions are................... in nature.

A) Internal

B) Constant

C) lrrelevant

(A)
(B)
(C)
(D)

D) Repetitive

28. HIrsA # oY <afdad & garr forr amar Ao & R W ST
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29. Us gHTEl AU ot arer & IOl A wArfR &

31. G&AT 198 F diT 9T & 37 YR faefora fohar Sirar & 6 ager &mer
w%,a,:\q'iaqma?rg, Eé?ﬁ'ﬂ‘%aqmawimﬁquw%l a9 a8 92 AT &I
HATT 9T

g7?

https://www.pygonline.com




33 dIeT 37eht arell T &3t S 7 @ Qs € Y TEar §
A) 127

C) 12
130

©

(A)
(B) 128
(C)
(D)

D

34. 3R 0, 1, 2, 3, 4, 5 ¥ frdely 3 3HT A FEIAT TS ST el &,
gie 37l T GoRIgRT T ST Fohell &

A) 90
B) 216

) 7

(
(
(C
(D) 150

28. A decision taken by an individual in the organisation is known as

A) Individual decision

Group decision

C) Collective decision

N’ N N N

Separate decision

29. Attributes of an effective decision maker include

A) No judgement

C) Rigidness

(A)
(B) Risk taking
(C)
(D) Comprehensiveness

https://www.pygonline.com




30. The outcomes of mechanistic decisions are................ .

31. Number 198 is divided into three parts such that % of the first part, %

rd h

of the second part and %‘ of the third part shall all be equal. Then the

Value of the largest part will be:

23,... 7

https://www.pygonline.com




34. How many 3-digit even numbers can be formed, using the digits O,
1, 2, 3, 4, 5, if repetition of the digits is allowed:

35. fasafaf@a Miest &t Arfeger ¢
17, 8, 9, 5, 26, 19, 13, 26, 29

(A) 13

(B) 17

(C) 18

(D) 19

36. AFifha ars are frdy 9RER & wfa A 8 arel @dt 3 s9g i
Yyeid adar g1 Ife AR & FUT W g arerm 9fa A @ 18,000 &, ar
gfa AE

Aot 3R 9RagT W gl arel @T FT JRTh §

https://www.pygonline.com




(A) 36,000
(B) 45,000
(C) ¥36,600
(D) ¥45,600

37. 4 HARIT fauH FEI3 FT AT 18 8l 54 FE&I3 H & TqGq d3r dur

Ted B TEITHT & 0D §
(A) 187
(B) 247
(C) 315
(D) 391

38. Ol & 52 Ul &I Teh Hell-HIfd el I8 IS8l H T Teh Ial Aol
fAeTer STar &1 fAeTer 1T arer war (31T B $I8) gl S UTilehdr 9o dhr
Ush &l &

(
(
(
(

39. W@%%W%&TW%@?Q,OOO g1 g8 ¥3,500, 6% JTUROT
SISt & a1ffies a3 & g 23,000, 5% JTUROT AT T arf¥es g7 & f@aer
AT gl T450 a1 31T 9ed e & foT, 38 AV Ui fovw a3 O gy
AT AgT ?

(A) 3.6% ufa a¥

(B) 3.5% ufar a¥
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(C) 3.8% ufa a¥
(D) 3.9% ufa a¥

40. I v & 52108, 11 @ qUid: TITaId §, O« 'a’ &1 AT grom :
(A) 1
(B) 2
(C) 3
(D) 4

35. The median of the following data is:

17, 8, 9, 5, 26, 19, 13, 26, 29

36. The following pie-chart shows the monthly expenses and savings of
a family. If the expenditure on the house rent is ¥ 18,000 per month,
then the sum of the expenditure on food and transport is:

House rent \

15%

https://www.pygonline.com
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A) %36.000
C) 36,600

345,600

(A)
(B) ¥45,000
(C)
(D)

37. The average of 4 consecutive odd numbers is 18. Then the product

of the largest and smallest numbers among them is:
(A) 187
(B) 247
(C) 315
(D) 391

38. One card is drawn randomly from a well-shuffled pack of 52 cards.
"The probability of the drawn card being a face card is:

A

vy
—_

O
N SN N N

(
(
(
(

= = >—‘|
wlw wl“ w|-

O

39. A man has 9,000 to invest. He invests ¥3,500 at 6% per annum
simple interest and 33,000 at 5% per annum simple interest. In order to
have a yearly income of I 450, at what rate must he invest the
remaining amount?

3.6% per annum
3.5% per annum
3.8% per annum

3.9% per annum
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40. If a number 5a108 is completely divisible by 11, then the value of 'a'
will be :

A) 1

)
B)
)
)

(
(
(C
(

B CC I NV

D

ST - |

JehTRT FEHUT 3T TSRO & T s & ol & Fgot alel TRT H F Th e
AT 1 AT IR H 30 Iooderdr $H aROMHT gefr 7 Faer gAR FFarT W
3TTeRTET T TRICT T 9913 @Y &, UG gAR O 3R =lesr Tdl & Foa
dIET, gl do [ gAR ARG dUT AAS TR & 8 I8 gRafdd =
W &1 30T T THT ugd & SEd YRIT & S THET I TgHle Il
YehTRI JENUT Foil o AR &1 8 Tehc & <foh FEHW Fehrer W 39
37ar 37efise YEIYsT HEAT FET A UIAT § | STradiel dar Jerdnsi
ATeRuTfagl, @eternfEaal, gahrer 3T a7 faffed TR weifddr & a9
fdl & FFTTdd Tohlid & RUT YhIA YGWUT TAUT S8 ElieiehReh JHTal &
fAgesT e Sifeer Hegr ao ST g

TRPTNT g2l & 3998 SR’ 3R A fov S arel & gAR 917 1970 &
TRET A g1 UIeT Bl U g1 I 81 Ig gl i ddg W T @idl gan
YR & 3N AT fhT T Gehrer &l AGT @ HId & o] 56 Th1T TGT0T
& g & Hg W AT HJSA SaRT 3Hdeilfehed T HTHTRr T Iowaeldar 3R
fEary $r 2Iar W gsa art gHa T P Al SR Ui JAgT Hd |

o1 YaTal & 01T Uh Hifdieh AlsoT & HATEIH § &1 S Fohall & Sl aF &
VLT TUT 3T FEH HUN GaRT Th1 & TehiUTeT & Fofral ol GAfar 81
faea 1 T Isoacial T SH UG I G2l dlel AT 3 & b &
3R o ARfaa agdr 8137 3R gelr 7ETET arel &1Fi- gl & & S6d Jerer
yeyor &1 fafay St vee a g
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41, AFATATET H O HieT Bl & FFATdT Thag H AfAST 781 § ?

42. Y1 YGNUT I Foll T IHORAY Tl gl STl § ?

(A) Fifeh JehTT YGWUT AN 3R & Ycgel aIer &l f9arms &ar gl

(B) 9rr: Wl YGNUT 9V § HeFeeH @ gl

(C) UfF FEIAET yarrer forad TahTel UgNUT Scveetaldl &, 37T UaeT A&
A6l T |

(D) Fifeh ehTer YGNUT EART TR T &THAT ol TN T &

43. TR 3oodoldl el arer AT Aaaf@a & @ sila-ar ifaRea
SATThRT Y UGleT X @ & ?

A) T JThTr IT YT FEJOT T FoITd

C) Taerfad AT &1 TUT il HTEIET dlel &3 H FehIRl YeWUT I defer

(A)
(B) arg & 3HUI3MT EART YehIRT I FehIUTel
(C)
(D) gl &1 Hg ¥ Staeadl I Fehrer

44. T I & AR AR dTATEROT HT Tgd dIoll A e oitell & T@T 87

https://www.pygonline.com




45. gAR TOART 81X ThTer ST TRACT I FIT ThdT q§q| IET g7
A) TR H FEaT §3T IUSPR
B) UM 3ThIer H dadl §-§ 3sodeldl

)

)

(
(
(C) ST §3T STel Yguor
(

D awg&nmagﬁ

Passage - |

Light pollution is one of the most rapidly growing threats to our
environment. The resultant increase of brightness of the night sky is not
only damaging our view of the starry sky, but is altering our perception
of dark and moonlit nights and even our physical and mental health. It is
only recently that these effects of outdoor lighting have been recognised.
Light pollution also indicates wasted energy, since upward directed light
does, not usually provide useful or intended illumination. Dealing with
light pollution and its adverse effects is a complex issue with potential
conflicts of interest between the utility providers, environmentalists,
astronomers, the lighting industry and various governmental agencies.

Satellite images looking down at the Earth at night have been available
since the early 1970s. They measure the light beamed upwards from
sources on the Earth's surface but do not give any direct information
about the effects of this light pollution on the night sky brightness, as
observed by humans on the surface of the Earth, or about its impact on
the visibility. https://www.pygonline.com

These effects may be calculated by including a physical model of the
effects of scattering of light by air molecules and other small particles.
Maps that show this calculated sky brightness have now been prepared
for the entire world and provide a vivid record of growth of light pollution
in both developed 'urban areas and densely populated areas.

https://www.pygonline.com




41. Which one of the following is not involved in the potential conflict of

interests?
A) Environmentalists

C

(
(
(C) Lighting industry
(

)
B) Satellite image providers
)
D) Government agencies.

42. Why is light pollution called a wasted energy?
(A) Because light pollution damages our perception of the dark.
(B) Most pollutions are wasteful.

(C) Because upward directed light which causes light pollution does not
provide the intended illumination.

(D) Because light pollution is wasting our power of visibility.

43. Which of the following information are the maps showing sky
brightness additionally furnishing ?

(A) Effect of light pollution on the night sky
(B) Scattering of light by air molecules

(C) Growth of light pollution in developed urban areas and densely
populated areas

(D) Light beamed upward from the Earth's surface

44. What according to the passage is rapidly threatening our
environment?.

(A) Light pollution
(B) Maps
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(C) Satellite images
(D) Stars in the sky

45. What is damaging our view of the starry sky ?

A) Increasing darkness of the sky

C

(A)
(B) Increasing brightness of the night sky
(C) Increasing water pollution

(D)

D) Increasing mental inertia

e - i

gH ¥ IR RE & HIG W & ARV §H 9 & fov AT o119 &, gH G-
gt & 9fd Il gl SI9 o7 98 gl, al g8 Yool @all AT 3R
geeatal & Ui g 3arEieTar &1 Ha [l ARV | SH oRE AR FFAE 3
arer Felt fawat & ufar off 0F & o T@er =ifgwl Ife g fawar gere B &
38 9fd #AN og @ WfRe, Ife gAR RideT &1 favy q@el g, gH 38
i HTOMYUT glaT =IRU| IfE a8 HI AR AT & o &8 IR 3eifoed
gler aIfRT; AfE Ig 31epet &, @ g 30 Ui e gler @ifRe | Wee 3
arel Affear AwAt & 9fad 79 & 59 YR & 919 I@AT HA F AT TAT S|
AR & ST & 3 arel 0 3WFAR Hisasar sdifav 3rdr & & g7
S g U 39 HA Y 39T Uhs H 87 W Thd | 361807 & fog Ife
HIS i AN FO T HAT 8, ol §H Rod & 38 5 & TdhR &l
3¢ & S § 3R 38 e 8 & 9fd 9cdsh ¢ gider ey i & f
§H 9 T 1 39 =0T & 3@ A 3qAY gl §: 98 39 a&] H AR
aat & yarigd &xar § 3 &7 U afFad @ e &1 vl o A § & 3mue
W ATT0T I@H gAY e P &7fd 8 W 8 & 399 dF gART 3menda
39hR g1 8 T@T 8icl &1 Ycdeh SN Sfd §H EO #1d AT YA ShIET Y il
FI SHA I &, dl §AR 3THR %’Eorslgd-ﬁr JhRIcHS ST T g W gt
g, UfFa &1 Tf g1 TR AfFT A gRafdd g S gl
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46. g5¢ fawg & fa g ford YR &1 11T @ aifgw ?
A) 3cra

B) ARRIcHS
) FHAT

D) garefrer

47. JgaTiiT foh faeafaf@a & & Hia-81 19 @ gH W A6 ¢l dgd|
A) g QT-gf@al & gfa aameihe gl

B) 87 @d & forw #AT &1 #9 W

) 9o @R & Ui Y §H THeoddT HT 7T G|

(
(
(C
(D) §H Sl & Gfd 3eTEleTdT T $Td ™|

48. HUT TG AT Y &1 HATGAT & EHA o oI &1 Bl ¢ ?
A) 98 38 TE] HT AR @ 7 vared g gl

B) & 319l AP @ & &

C) AR 3UHN g HHRIcHS Foll Al gl &

D) s # & WS

(
(
(
(

49. fTArATaf@d # @ FF-T1 YA 3H T F Tl H el 11 & ?

(A) 9% IR SId &H Elcvnaﬂawaﬂ?raﬂ?r%,a‘rmsw%gragﬁ-lﬁ
HhRIcHS Foll Gid gy gl

B) g4 &e-gieat & wid wonqul glar =gl
(C) gom 3R qU$ & & H Tcdeh Tidfhar A & v giiave gl gl

D) Ife I cAFT gAY F& U HAT &, a §H GO § 3HAN YTAhR HTal
IR
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50. Teh q@H fasT & T §H AT YdgR HIeAT MY ?

Passage - Il

We must have these four sorts of ideas. We must have friendship for
all; we must be merciful towards those that are in misery; when people
are happy, we ought to be happy and to the wicked we must be
indifferent. So with all subjects that come before us. If the subject is a
good one, we shall feel friendly towards it, if the subject of thought is
one that is miserable, we must be merciful towards it. If it is good, we
must be glad; if it is evil, we must be indifferent. These attitudes of the
mind towards the different subjects that come before it, will make the
mind peaceful. Most of our difficulties in our daily lives come from being
unable to hold our mind in this way. For instance, if a man does evil to
us, instantly we want to react evil, and every reaction of evil shows that
we are not able to hold the chitta down; it comes out in waves towards
the object, and we lose our power. It is not that we lose by thus
restraining ourselves; we are gaining infinitely more than we suspect.
Each time we suppress hatred, or a feeling of anger, it is so much good
energy stored up in our favour; that piece of energy will be converted
into the higher powers.

46. What kind of attitude should one have towards an evil subject?
(A) Indifferent

(B) Negative
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(C) Friendly
(D) Merciful

47. ldentify which one of the following ideas does the author not want
us to have.

A) We must be merciful towards people in misery.

(A)

(B) We must have friendship for all.

(C) We ought to be happy towards unhappy people.
(D)

D) We must be indifferent to the wicked.

48. What follows when we suppress hatred or a feeling of anger?
(A) It comes out in waves towards the object.

(B) We lose our power.

(C) Good energy is stored up in our favour.

(

D) None of the above

49. Which of the following statements is not true with reference to this
passage?

(A) Each time we suppress hatred, we see so much good energy stored
up in our favour.

(B) We must be merciful towards the miserable ones.
(C) Every reaction as hatred or evil leads to loss of mind.

(D) If a man does evil to us we should react in the form of hatred.

50. How should we treat a miserable subject ?

(A) Show anger
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(B) Be indifferent
(C) Be merciful

(D) Express hatred

51. Af@ad & I FIF-T1 ISATcHS TIR TIST I TAITATHS JeTelshA
CaRT qRATT AgT & ?

1. FgaTie FEowoT
2. AAgaIRe FEIwoT
A QT T Fe & T IW AT

52. AT @d & & HId-AT JFIYUT & 31ATccah Tcah ol Ush 3G g ?
1. & &1 Fgd gl ?

2. 39 ¥ &gd § ?

A fgU 90 Fe F Tl IW AT
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53. YT 3] HIAA & Hedl H, i@ 7 & FieT /A FuT whr

e/e?

1. SHHT IRFS FIAARET & IIROT & FAged AR FHAT oedl &7 Icfoa @
gIc &l

2. SHHT YRFH HRAE! & HTEOT & o 3R gl & el & giar 2
A fCU 9T FT & FE IR IAT

%

(A) FHaa 1

(B) hael 2

(C) 1 U9 2 gt

(D) T ar 1782

54. AT & T HId-AT JFIYUT hiAST JAgl 872
1. 31T HiereT
2. dTdeT hiereT

3. e I

4. HeheUslcHe ahierel

A feT T FHe F T FW AT ¢
%

(A) el 1

(B) harel 2

(C) Fad 3

(D) &hadl 4
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55. 3l Hiee & HeH &, fmfai@d & @ la-ava FUT T 8/87

1. TE Ueh hiad ol GERT Pl IHUAT HA dGelel & [T FHTIAA el H HeTH
AT

2. ¥g Ueh hfeFd & GEU I Tl YAER delel & ol THTTEA el H
HeTH SaTdT &

A ST 9T FT A FE IR IAT

51. Which of the following organizational communication is not defined by
the organisation's structural hierarchy ? https://www.pyqgonline.com

1. Formal communication

2. Informal communication

Choose the correct answer from the code given below:
Code:

A) 1 only

B) 2 only

C) Both 1 and 2
)

D

(
(
(
(D) Neither 1 nor 2

52. Which of the following is an example of the non-verbal component of
communication?

1. What you say?
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2. How you say?
Choose the correct answer from the code given below:

Code:

53. With reference to effective persuasion skill, which of the following
statements starts with stating the importance is/are correct?

1. It of following a course of action and the likely benefits.

2. It starts with stating the pros and cons of following a course of action.
Choose the correct answer from the code given below:

Code:

A) 1 only

B) 2 only

C) Both 1 and 2
)

D) Neither 1 nor 2

(
(
(
(
54. Which of the following is communication skill ?
1. Persuasion skill

2. Speaking skill not a

3. Writing skill

4. Conceptual skill

Choose the correct answer from the code given below:
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55. With reference to persuasion skill, which of the following statements

is/are correct?

1. It enables a person to influence 'others to change their minds.

2. It enables a person to influence others to change their behaviour.
Choose the correct answer from the code given below:

Code:

(A) 1 only
(B) 2 only

(C) Both 1 and 2
(D) Neither 1 nor 2

56. FINUT UTehaT H fAFAfli@d el W [darR fIifaT gar 39!
FTAHATIR AT HITIAT:

1. Ter

2
3
4. JAe
5
6
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7. gfaqise
AT G 9T Fe & FE IR IAT

1,2, 3,4,5, 6,7
2,1, 3,45 7,6
2,1,3,4,5,6,7
1, 2,4, 3, 5,6, 7

58. FIYUT H 3Tsil TTHIT h TITETd el & TeH &,
Pai@a & O i Ia/d &UT a8y 2/2?
1. SHH TP Sglll ATeATeld gldl & oif G2lehl &l a9 I@dT &l

2. 3GH Gl H ACTHT FATAT I GHASTT H Acg A & foIw 3ffehst AT
3T FIAATIHT 1 3uANer HiFATT B

A fgU 90 Fe F Tl IW AT
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59. il I ¥ Faleud Aeafaf@a I W [9ar Hifaw qar 33
FTAFATTIR IEIT FHITST

1. 39 ATt S AfATY

2. 3YeT TAVT-aE] Y FAfeAT A
3. GFAIgH T IR Y|
4
5

. 3T Y AT Ao H
. 3T FEJARIOT TR &N S|
A QT T Fe & T IW AT

(A) 5, 4, 3, 2, 1
B) 1, 2, 3,4, 5
C) 1,3,2, 4,5
(D) 2, 1, 3,4, 5

60. FFIYUT i 319ATH & Ty #, Aafai@ad & O Hia gy a9 T
e/87?

1. 379aY A3 TF 3T TS dI3 &l THS T TR 91T TSA IR
T H Aee Ae gondr &

2. 39 A3 3R 3ART IFMATRATT I THSTA T 3R 39 fawT Fl
JTRfad #e # Ace fAe el B

A fgU 90 Fe F Tl IW AT
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56. Consider the following events in the 5 communication process and
arrange them in chronological order:

1. Message
. Sender

. Encoding

. Decoding

2
3
4. Channel
5
6. Receiver
7

. Feedback

Choose the correct answer from the code given below:

Code:

(A) 1, 2, 3, 4,5, 6, 7
B) 2, 1, 3,4,5 7,6
(C) 2,1, 3,4,5,6,7
(D) 1, 2, 4, 3,5, 6, 7

57. The function of communication includes :
A) Controlling employee behaviour
B) Motivating

(A)
(B)
(C) Fulfilment of social needs employees'
(D) All of the above

58. With reference to organising your content in communication, which of
the following statements is/are correct?

1. It includes a story that engages the audience.
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2. It includes use of data or other information to help the audience to
understand the problem at hand.

Choose the correct answer from the code given below:

Code:

59. Consider the following steps related to practising the skill and
arrange them in chronological order:

1. Know your audience.

2. Organise your content.

3. Prepare compelling visuals.
4. Calm yourself.

5. Focus on your presentation.

Choose the correct answer from the code given below:

Code:

(A) 5, 4, 3, 2, 1
(B) 1, 2, 3, 4, 5
(C) 1,3,2, 4,5
(D) 2, 1, 3, 4, 5

60. With reference to practicing communication skills, which of the
following statements is/are correct?

1. Understanding your audience and their needs can help you tailor your
message.
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2. Understanding your audience and their needs can help you tailor your
subject matter.

Choose the correct answer from the code given below:

Code:

A& (92T T&AT 61 @ 65) : U 1T areier & MR W AeAfaf@a geat &
3 QST

ACAT - 1

fOdrsl g8 93 QIR @ MNAATY" FEh JHRT | W 3Tl H gART A AT
'ARFRITATY' §H 81 ool 'Sl FEeh YhRT FIA IR AT FI ASAT | ST
STq Sit AT AT 1S Fd o §H 3elen) qdmﬁab*-éb*siﬁﬁﬁmﬁg
feRT FX | YE-U1S X TEHA & 916 9 THA-UA e FEId| A
'THATAT daI' W gl TH A1 foI@a I8 39 39 916 Hdad T arefy & gy
ST @ | T 91 &t aR &Sl & Bie-ole ghsl W A A foge
e & Mot HAeded 3R 39 Mt Fr e 3w o Fr 3R T 95T |
39 g Y g7 399 HY W R[/UTaAT /A V| 9 gg 90 H Th-Ueh 3T
T MIAAT Ferey ASDTAT I QAT oFTad ad 3 g7 30 HY T & 96-38
ﬁwaﬂﬁﬁlﬂ?ﬁ@éﬁﬂmﬁg@ﬁﬁﬁaﬁrwsﬁ%olw ST el
¥ F9 §H W A I 3% 1Y & g7 M Il W T doa A 98 X U
8l BT ¥, BT & Teh el H IIRA 3R AT et TWelld & | ATr-faar i
& HY gl Sgd & JHTeigarges sidr &Y T |

61. a1 it fhgent g1 fohar v & 2
(A) 3frer
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(B) THARTATTH

64. ST Y THATAT d81 W fohcsl TH a1 for@d & 2
A) |t

B) g &t
C) &R
)

(
(
(
(D) Tsh IR T &t

65. HITATT T &Y g Ier & 9ry a7 ?
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A& (92T T&AT 66 @ 70) : U v sreieyr & MR W Aeafaf@a geat &
ELCECTIC LG
AT - 2

"HIST Teh AT IO §| FoYac: g8 TATST H 37Ul HATST delleh IgeTl
e Il gl 3% T a8 379Ul ITFITd STOIT Fl Teh AT deh, =0T,
FATS & g1y H WY ST &, W ST6l AT T A ol § dgl a8 T
foar - gurer groft 8 1 -8 3R ffg AT a9 FART & g1y # ©
sqeT AT §ff a8 &g 3O f9uR afed & dgR &l g1 a1 AT Hr ST
IIEAT g 3R dre 58 fbeyrd 9 39 &dlodgmﬁ,wﬁwﬁﬁ?
faaeer dr St A F7sT A § 38 BIsd I 38 R FAT qE geT &l gt
ol Y T g I TNHR o HWM FATST T AYOT ATFT YeTeT FTel drel
fSiaa off ot €, 9 ot v I1 Fo IFTA & ATRTSH H 3usT g1 3wfaA
gfaememe safaa & garer &1 Afdse aromsft a1 sgaramst & Sed a B
AT 513 &; 96 T9I $S gl AT Hehell, Wdel drel 3ryar fohel faarems

Jddel el dTol $S S g aa g I

66. fraT o TOIRYRT &1 Ydded el ol <ITdd Har glar g ?
(A) T
(B) R
(C) R
(D) wtmara

D

67. gfqsmeme safed -1 X § ?
(A) FHATST & Hifed A SH S B
(B) HATST & 39a 3SRT & fow o=a &
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(C) THTST &1 fafdrse o3t a1 cgaea3it & S H od &l
(D) HHTST Fl 318 T gl

fAger (uea T&ar 71 & 75) : feU v sreiy & 3R ) fAeAfaf@d ueAr &
3R SIS

IS - 3
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HRdeg & T H Tk fIAVAT T8 § b 38H SUCT s &l Used &
AR BIdT &l 3eTh FhellcHS 6T &l faAYar Ig g o 38H sSrsimar Hr
Ao 1 R=ar ey sierqdr, el anfe &7 & AR, 3@ Seuc siferar
el SITdT &1 BT T AT HIWT & T - 37 AW & v S [Affies aver
$r fase HWT & ¥ H qfad & Ig 39T« U7 fh ag s« Siferat &
ToleIeh 8, 31 Q&G Pl cIAgR Y oIl 3o1 Sl H ATAT g1 &, 37adr 3R
AN 7 FACY AMfecy o1 | Y fedl Afecd o FT, Jerdlr AR FAR AT
qIfgfcdeh TRFRT & YT S, 3 R AR & dAhsl oeg HRAeg H
A A Aol 81 9RAeg & GHT § 379 ooh fgeal o el Al & 3R
S 99T § YeTid T, SHHRT g FT FROT SAAGCI Siferdl dar et foear
AIEcT O 3HH FFa-H § | HRcleg o 6T Hfged 1 Ueh a1d1 A
Td HIfgedT & ofel & STl

71. rafaf@a # & Fia-a@ FAIET drell 81 872
(A) 3TeT
(B) #Hfrel
(C) &rsTgdr
(D)

D) 31geir

72. T, Jodr 3R FeR Fr Aifgfcgsds WRT S fhaat 3r9emar ?

73. BIRAeq I § 3 T ey T YaTfe &l AT HROT § ?
(A) RRrse #ST & &9 & f@edr r gerta
(B) 3¢ & 3feled

https://www.pygonline.com




(C) Suera siferat dur Wi fgwdr Arfged & Heer
(D) 37T 9T & HEY

74. ARA=g S & ey & fohe awr T Ao § 2
A

(A) STSTSTST
(B) 3raeht
(C) 3¢
(D) &S

75. AR STauer Y 1Ase 9w & &7 & GnfAa g arely smwr & =47
FEd & ?

foager (92T w&ar 76 & 80) : fav v g & IR R AFAfaf@a geat &
3 QST

T - 4

3ed Aafed & a1y fidrn, THRAr 3R PHEAEr 'TH' FT YU A&7 §1 Tgr
3eTehl THCT &1 39el AfFd T Taregsfd & 38 3818 &1 7 g, Fod 9393
e HH B &1 eI # & O THeAdT & Y el HSAT A ;R
oisT 3R farfay & a1y 18X W 35T e yreg 1 Jour [Jedasnr [Jee
TETHN T 9gol-Ugel 39T Jol STAN, a9 3H HIGH & Seelldqul I g,
o '3caE’ Fed &1 BT 3aTAT H & W g wag & fow [T ass
gt g ¢, 351 A 9IS dlgg av o H T el FCT H FHA
A U ST T e el dTel FehoT AR [T S T T AR U §H
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cEd ¢l 39 yeR o aRTEufaat & o 9 Sae &1 [ gar &, 37
W & fAdlg g7 %A & TFaRd # ¢@d g1 TH 3R agAT I ar 3efada
dR §H 38 HAY qudl W Ui g1 dRar 1 €S @ g7 H1$ A g arr H
T8l Y Tohd, W HIAT & TSR H all ASAT & TGHE H Sif T @
ST 3T [AdIg 89 3id d Uid &1 Jde & gRA™ gg« W 3Iaar 3R
TRYRTH T IIAT & 3R A ST JIeIdT §H FAGHUT H W &, 30 &§H SN
T AW W ¢WA Tl ST g1 TH & IRA & AR Shaed F 3EY &l
UH HIS & g H1S & ufd 97 Shaet &1 Al §1 30 & F07g #H 38 9A
Fr TR AT AT & |

76. TYRH & HY Halg & HTE R A&HT H Fiel-a1 $1a few@rs g g ?

77. T gAY JUaT W FeHIT F 3T fe@rs usdr & 2
A) TH
B) IrgoT

(A)
(B)
(C)
(D)

Pl
D) Stedesh

78. TH 3R A8AU o dregraedT #H g ¥ & 3re7 R8T greag $ir 2
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(C) faearfas
(D) enfsexr

79. TH g W& AV A T Soelaqu TgH & Ugo-Ugel T&TH W 3791 §o
HTSTHART, 38 &g Fohd &

(A) som
(B) shrer
(C) 1a
(D)

D) 3care

80. foa gRTEAfaAT & g IR ShaeT &1 e gar &, 37T WaRT &1 fadig
g Thadh aRT @S usar # § 2
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84. SAS ANATIS 2Usc BICT :

A) IET - Herd

(
(
(C) et - dleT
(

D) 3dddd - 3old
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87. 'g¥dl" T U Asq &

89. '3reu<T T faald eTse &

A) drTeT

B
C

(A)
(B)
() g
(D)

%

D

o
9~

90. 'STOT &I YATIATHT A el &
A

)

.

B

(A)
(B)
(C)
(D)

D

%

91. '$¢ @ §¢ Tl HgraX &l 3 §

(A) ST X AT
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(B) dReTfa greTT
(C) ™ H & Ta%ey SR HLaT
(D) &X A5 &alr

92. 'Ufawel H HidA-ar AT g2

95. 'HT HT AdHh UsE gl &
(A) el

(B) Hglea
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96. 'To T 9T &1 o I TF I8 UsE ¢

(A) 3TaeTH
(B) 3fTdTer
(C) 39Rer
(D) 3ifadaei

97. AT & & ey aFy BT
(A) 323X & 37eihl &7 gl

(B) # 3mTer AT JET ol AT |

(C) SIOIR & 7-8Rehe $15 STAT Y|
(D) H 3uFA At TFR F

98. 'JTAEN' &I JYITIATT AsE g
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100. '31fAT" &1 gAT=IGrET oUqsc ¢
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